LTI Seat No.:
XW-127

April-2013
M.A. (Sem.-11)

Economics (407)
(Microeconomics-11)

Time : 3 Hours] [Max. Marks : 70

1. Gawler [A8d-l 28 21 He A1l A B WA Gaulet-l Huy 2l 14
2Yal
(1) weulasold vl Rigid .

() 59 Ad Bules Guled et AL Ml YridH AL vl Adly uie 53 .

2. SoR1Ysd SXsISHL Udl A ogadll AugAl BHd 33512, d3q, 381 vt dARL W
Al A1l 14

241
() yel edls15-l Ul amgal-dl avumsll $onzt e sU.

(6)  $¥lorAL Sl al s

3. [eeds SRl vied 9 2 d-l gie, ezl 2 vwsasl Hised AxAdl. 14
S ET]

RA Udld ddraus disd Axndl.

4. Rl ousidl Rglad, 2lsicts yeuis s 14
L]
() YaR uHd

(6)  siduRl o sl Rigia-l 2l s2.
XW-127 1 P.T.O.



5. M.C.Q.s : Al g2 ust He 4w [aseq ude 530 Hod d-l eR avil. (a),(b),(c),(d).
tld. W1 = (a), X.2 = (d)

(1) yel 831518 A SNAYsd €351 a2 9 dsldd 9 ?

(2)

(3)

4)

XW-127

(a)

(b)

(c)
(d)

yel ¢3lstdul M2l vl Al Udlail el © R SrR1Ysd $IlsIdul
Ale.

SoR1YSsd SFSIOHL Udlel AU dglld Baulert 53 €9, iz yel
e¥s1HL Udlal aAldls (Al dg Bedled 3 €.

ysl ¢35l uda Ysd 9 U SARYSsA $Is1Sul e,

ysl edls1Sul Udl A ARgpl A SMAYsA $IAsidUl Ul wldl
[alticianell g Beauled s2 .

yel edlsiSall udl-l Bua

(a)
(b)
(c)
(d)

Mseey SARAG HedH sty Goulet wul

Uél oed, auiz Gauled 53 dedl auR
8315 Ul [Bud s2dL el
o212 [SHd GRIeR

[ (34

A UA AR VA

HedH Astall Boa 3uL BYR Al ML €9.

(a)
(b)
(c)
(d)

4 295 AU A A, 4 As
A vl 24 M A s, RMid 2098
Hiol A YAl YRasl

A vl 24 M a8, HioL

AAniel 59 olotd SAriysd st we uRl © ua ysl s we
widl 9 2

(a)
(b)
(c)
(d)

USl2Al sououHl 2Bl sl 52 ©.
Y12l vl dARIpL adxyel [Heldl | .
o124l udal-ll e9e el

Uélal duedl axg-l Bud, dxy detadl st {52l 2utR ¢35l 2 €.
2

14



(5)  lAHidl 9 SR 2 SonRAYSA SISISHL AR 9 ?
(a) URMR oA (b)  [Ha-l cuotddi amydldl asudl

(c) MLl AvuHL Ul (d) Al dzs eadl Hia v

(6) SAAYSA SI5IOHL gel-gel du-URLAL gl
(a) vl uglL Aldl el (b) 2Aysl v1dew avR-l [Baga x4

(c) *yel 2dw (d) sed uvll

(7)  eded SARIML Ul
(i) wisollan-ll adgs-l 2ada
(i) €25 oR [Bua-dl 242 52
(i) AL 28 wdl Bud aya se.
(@) &5 (i) (b) (i) 24 (iii)

(c) $5d (i) (d) 5 (i)

(8)  steal Ulutirl Al 21345 Al Guz 2l .
(a) Gedledui auiRl i 2Hedl Bud wal uealdl Bud 8.
(b) GeuleAHl asRl 2 gl Bud waL udandl Bud
(c) GauleAHl »iga 2 Budul quRl

(d)  GaweHi a9l A Fradui qaiRl

(9) % 59 s Ul [28ds SMRAAL def Bulel SNAAL GUed 5l 25 sl
qQuIRl $3 dl uéldl sl , ollw Udldl sl w1 [geds
oAl 4 151

(a)

(b) ad, 82, 42

,ﬁ‘/

ad, a

ﬁ/

() sl 32512 Ale, s 3212 Ale, s 3R le

(d) ad, sl 333512 Ale, a4

XW-127 3 P.T.O.



(10) ~TA-uniell 9 012 9 ?

(11)

(12)

(13)

(14)

XW-127

(a)
(b)

(c)
(d)

adieidnd, Sn2Ysd ¢sid-dl Udldl aauziddl Gauer alsd ol sidl.

aioidndl, SR1ysd ¢3sis-dl Udl ag [Aleidid dld 2ulls sl dadl
Ay €.

yel ¢35l udl aietoudl HedH U1 A Wl UR ¢ly €.

alonoudl, SoR1ysd els1d-l Udl ol Bud 2 A9 w2l v 2y ©
uRl A28 & WA Yeidy Adl el

RPN

U2 UMl S21Ysd 83ls1dul UlBLs sl Had © e Udlpil

(a)
(b)
(c)
(d)

GellotHi udl i og-ll Uil Hiol eeql.
Gelormil sl aal 21 oSl ¢l WlaAiAL HioL aual.
GellotHl YAl A Gaemial Hlsoll el

Gellotmi udaal it -l udli-Al yidL qual.

SoR1ysd 85104l Udl d-dl Bud ur AR wA oAl AR
[Zud- 142

(a)
(c)

€l 52, A€l 5. (b) 520, 554 &51U0UMIL

529, 8l 52 (d) s29 8, s

SoR1Y5d 83104l dictpun-dl Auganl, Bud iR

(a)
(b)
(c)
(d)

Al vl vl Al 2as gl
A9 5 WA
A A s i A Wl

A as wel A1 wal gl

(Fud sleeta wd SRl

(a)
(b)
(c)
(d)

Bud tletiladl d %ed Gaule 529 d-l $dl i
Al sl AMANA 33d92 AUl eledsl.
Beule sl AN UL As1Ml oleaal.

Ale 5L vEANA 2URLs sl sedal.



Seat No. :

XW-127
April-2013
M.A. (Sem.-11)

Economics (407)
(Microeconomics-11)

Time : 3 Hours] [Max. Marks : 70

Explain meaning and importance of production function. Also discuss law of variable
proportion production. 14

OR
(@) Discuss the traditional theory of cost.

(b) How does producer choose optimum combination for minimum cost of inputs to
maximise output.

Discuss the equilibrium of a firm and group in monopolistic competition with price
variation, product variation and selling cost. 14

OR
(@ Compare the equilibrium of a firm in perfect competition with monopoly.

(b) Explain the case of dumping.

What is meant by Duopoly ? Explain the models of Cournot, Bertrand and Edgeworth. 14
OR

State Marris” model of managerial enterprise.

Critically evaluate Ricardo’s Theory of Rent. 14
OR
(@ Euler’s theorem

(b) Explain any two theories of profit.
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5. MCQs : From the following each question, select the best option (a, b, c, d) and write for
example Q. 1 =4, Q. 2 =d.

(1) What is the difference between perfect competition and monopolistic competition ?

@)

(3)

(4)
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(a)

(b)

(©)

(d)

Perfect competition has a large number of small firms while monopolistic
competition does not.

In monopolistic competition, firms produce identical goods, while in perfect
competition firms produce slightly different goods.

Perfect competition has no barriers to entry, while monopolistic competition
does.

In perfect competition firms produce identical goods, while in monopolistic
competition, firms produce slightly different goods.

The price charged by a perfectly competitive firm is

(@) higher as the firm produces more

(b) different than the price charged by competing firms.

(c) the same as the market price

(d) indeterminate

A profit-maximizing output for a single-price monopoly is determined by the
intersection of the curves and the profit-maximizing price is found on
the curve.

(a) total revenue and total cost, total revenue

(b)
(©
(d)

marginal cost and marginal revenue; marginal revenue
demand and supply; supply

marginal cost and marginal revenue; demand

Which of the following is true about monopolistic competition but false about

perfect competition ?

(a)
(b)
(©)
(d)

firms can earn an economic profit in the short run
a large number of sellers take decision independently.
there are no free to entry in market.

firms compete on their product’s price as well as its quality and marketing

14
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What has monopolistic competition in common with monopoly ?
(@) mutual interdependence

(b) the ability to collude with respect to price

(c) alarge number of firms

(d) adownward-sloping demand curve.

In monopolistic competition, the products of different sellers are
(@) similar but slightly different

(b) unique without any perfect substitutes

(c) perfect substitutes

(d) identical

Firms in an oligopoly :

(1) are independent of each others’ actions.

(i) each influence the market price.

(iii) charge a price equal to marginal revenue.

(@ (i) only (b) (i) and (iii)
(c) (i) only (d) (iii) only

A cartel is a collusive agreement among a number of firms that is designed to
(@) expand output and lower prices but not to a predatory level

(b) expand output and lower prices to a predatory level.

(c) restrict output and raise prices

(d) expand output and raise prices

If one firm in a duopoly increases its production by one unit beyond the monopoly
output, that firm’s profit , the other firm’s profit , and the
total profit of the duopoly

(a) increases; increases; increases
(b) increases; decreases; decreases
(c) does not change; does not change; does not change

(d) increases; does not change; increases
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(10) Which of the following is correct ?

(11)

(12)

(@ A firm in monopolistic competition does not have excess capacity in the long
run.

(b) In the long run, a firm in monopolistic competition can earn an economic
profit because of product differentiation.

(c) A firm in perfect competition operates at maximum average total cost in the
long run.

(d) In the long run, a firm in monopolistic competition maximizes its profit at a
point where price is equal to average total cost but the average total cost is
not minimized.

When firms in monopolistic competition are making an economic profit, firms will

(@) enter the industry, and demand will decrease for the original firms.

(b) exit the industry, and demand will increase for the firms that remain.

(c) enter the industry and then will exit the industry.

(d) enter the industry and demand will increase for the original firms.

A firm in monopolistic competition influence its price and

influence the market average price.

(@) cannot; cannot

(b) can; only in the short run can

(c) can; cannot

(d) cannot; can

(13) Ata long-run equilibrium in monopolistic competition, price equals

(@) marginal cost but not marginal revenue

(b) average total cost

(c) marginal revenue and marginal cost

(d) marginal revenue but not marginal cost

(14) With price discrimination, a monopoly

(a) produces less than if it does in price discrimination

(b) converts consumer surplus into deadweight loss.

(c) converts producer surplus into economic profit.

(d) converts consumer surplus into economic profit.
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